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HARYANA MOCK TEST - 89 (SOLUTION)

61. (D) fodYi (D) d vylol] IHh fodYik e nhjk ;k;rk g

- (597
th gy e ertn gt (A+B)d4fudd; =g, =15
62. (A) K _ 11 ——>LHiut; efu 7 3
(uh; el Wod- - 1] 2 S
T_ ?0—>LFk“ el blfy,] VHI'V dk; = [1 15] = 1=
bl 1dij] )
72, (C) ekuk] 1#% dh I[;k = x,
J _ 10 ——> LFuh; el ]
R E —> LFiiuh; elu efgkak o I[’k Y
= 4 1#'\ rFk 6 efgykvi dh {lerk
63. (B) 15+12:9; 44+28:9; =100/10 = 10%
3 8 = 4x+6y=10
64 + 53 4 i#' rAk 6 efgyt, ,d fnu e dk; dk 10% Hix
iz > dj I1dr gt
= 3 #'\ rRk 7 efgykvi dh {lerk
64. (A) =100/8 = 12.5%

niuk lendj.l dk gy dju 1j ge iklr girk g

P

‘l'+ - = 38x+7y=12.5

Q—R y :

Y

X x=-0.5rfl y=2

VFkr L, P dk 1k g = 1 efgyt dh ifr fru {ler (y) = 2%
65. () ol = 10 efgykvk dh 1fr fnu {lerk = 20%
' ' i | & = 10 efgyt, di; di Iellr djxi
dlo el deyi = 100/20 = 5 fnu

firk T/ S Cu ....... T 73. (0) ekuk] dy oV = x
I- . - fotrk d Mjk ikir ol

= x dk (100-35)% = x dk 65%

66.AANMT POV RQX TSZ .
| i +22¢| Ti \+2;N A +22¢ nji = xdk (65-35)% = x dk 30%
— - > i"uullj] 30% of x = 450
67.A)2 6 12 20 30 42 56 _ 450 oo
L+a Il +6 | +8 || +10 || +12 || +14 | = x= 5, *100=1500
68.(B) aaa/baab/ aaa/baab 74, (A) eluk fd] VHIE'V jif*k = x
69. (C) 0;fDr tk dib [ky ugh [kyr i*uulij]
=40 - (25 + 22 - 16)
125 125 125
=40-31=9 750 = x X X X
70. 4] 100 100 100
1 750 x100 x100 x 100
71. (D) Adk 1 fu dk dk; = = X= T o5x125x125 1984
1 75. (B) ;9
Bd 1 fru dk dk; = 20 -112% dk yixr eY; 118% gixk =% 18
= 6% dk yixr eY; =% 18
11 7
(A+B)d 1 fnu dk d; =(E+%j = %0 18 x100

= YiXr eY; = =% 300.
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76. (%) VHI'V le; =7 AM +

4+6
20 x X 2x+3x
—7AM+E?k .'.§+§=5:> 6 =5= 5x=230
= 9AM 5L X=6
VHI'V njh = 4x3 = 12 fdel] fnYyh I 12 fdef- rFik - VHIV njh = 6 fdel
vyoj 1A
77. (A) eluk fd riljh [k = 100
rk] igyh I[;k =135
] nbjh I[;k =150
n e 135 .
VHI'V ifrr = 150 x100= 90%

78. (B) 4 ub I[;kvk dk ;kx
=50 x 104 - 100 x 44
= 5200 - 4400 = 800

vilr= 229 500
4

areh opIRe gfda vd
amrgil argfore anes ®ioxesa

W e (50 40
79. (A) VHI'V wuikr = (50 56)+100 50
56
_=6+20 1
756 a4 it
80. (C) eluk fd VHI"V njh = x fdel-
i 1gyh sk d niglu fy sk x;k Te; =§—?k-

HARAYANA CONSTABLE MOCK TEST - 89 (ANSWER KEY)

1. (A) 11. (A) 21. (D) 31. (D) 41. B 51. (D) 61. (D) 71. (D) 81. (C) 91. (C)
2. (A) 12. (C) 22. (C) 32. (B) 42. (C) 52. (C) 62. (A) 72. (C) 82. (C) 92. (C)
3. (D) 13. (C) 23. (A) 33. (C) 43. (B) 53. (B) 63. (B) 73. (C) 83. (D) 93. (A)
4. (C) 14. (B) 24. (A) 34. (D) 44. (C) 54. (B) 64. (A) 74. (A) 84. (B) 94. (D)
5. (A) 15. (A) 25. (B) 35. (C) 45. (D) 55. (C) 65. (C) 75. (B) 85. (C) 95. (A)
6. (A) 16. (D) 26. (C) 36. (A) 46. (D) 56. (A) 66. (A) 76. (*) 86. (C) 96. (D)
7. (A) 17. (C) 27. (B) 37. (A) 47. (C) 57. (B) 67. (A) 77. (A) 87. (D) 97. (B)
8. (C) 18. (A) 28. (C) 38. (C) 48. (B) 58. (C) 68. (B) 78. (B) 88. (A) 98. (A)
9. (D) 19. (B) 29. (D) 39. (C) 49. (C) 59. (A) 69. (C) 79. (A) 89. (C) 99. (C)
10. (D) 20. (B) 30. (B) 40. (C) 50. (C) 60. (D) 70. (A) 80. (C) 90. (B) 100.(A)

Note:- If your opinion differs regarding any answer, please message the mock
test and question number to 8860330003

Note:- Whatsapp with Mock Test No. and Question No. at 7053606571 for any of the doubts
Join the group and you may also share your suggestions and experience of Sunday Mock Test

Note:- If you face any problem regarding result or marks scored, please
contact 9313111777

Ph: 0955510888, 099555208888




